i) Al bl Al p37] % BE{SL | 3 = B =
2YH—
EELT O—41)—
ERIE Y T8 m® 0.3
BREL BAIERIEImE R m® 0.1
[ L T
2 S HE MR A HR H=800 m 12.0




EXLTTHES

ANBUBEEAAHT-Y) HH#E
Z=X1 ER-E | KIEYmM2) | HELM2) | ERIEYM3I) | EBRL(M3) k=
25 tE I L AR 0.05 0.02 0.3 0.1]12.0/2.0=6 &R
& it 0.3 0.1




M IHEHES

5 —0—%51)—
(g1 T)

2S5 HEMT BRI o o,

FR#E V=0.40x0.40x0.32=0.05m3

.31
0. 50 .3* 0. 50
© | ! | -
< | | | =
o =
< F
3 o < o~
S e
S| »
L 1=
: = =
0. 45 00. 30 d 06 EiE
0. 40 e

TTER L=12.0m

HE V=0.05—0.30%x0.30x0.22—0.40%0.40x 0. 10=0. 02m3




BUMEHNES
BrEEMMT - 25 Hea MRS k4 (H=800)

BEN
SUS304 $76.3xt2.0
=] =<}
I l
| |
| |
I I
[ |
E@arHry—+ + +
7 ck=18N/mn2 OO O(\ i
%iﬁg&ﬁ 300
10mHf=Y
BAl BB i g X B | % E
A W B L AR H800 m 10.0
##garsy—+ | ock=18N/mm2 |0.300 x 0. 300 x 0. 400 x 10. 000/2. 000 m? 0.180
ik e 0.300x0.400x4x10.000/2.000 m? 2.400

EREa RC-40, t=10cm |0. 400 x 0. 400 x 10. 000/2. 000 m’ 0. 800




25 1% W [ AL Hit (H800) L=12. Om

BE TN E

S$=1:250

2o —0—4%21)—

|
|
= = I g
= B — — | — 1
NO. 2+10L5. 0
\\ 37%%%&% | || % NO.3L4.0 L
{ m[)m i ~—e—ro
— coESEt === &
______ TN_LTKL — Er&@%?é NO.2+10(|/ o 0.3
NO. 1+10 =
S 1 - P
| ﬂ W; TELEVEN )
‘(
\
| D
‘ E NO.‘3+5RH.)5
i 4 |
| YJEUWO 0
| /[
e gqo 26. ] H %‘:L
1 — E— ; W 11 [\f
= = K
i @ | T
. s -~
% 1§
- S




i Al i Al 37 1% B |3 = i =
By —
fEELT o—%1y—
FRAE Y ) m° 0.7
R L B A RIE ImK i m° 0.1
NIRRT
REHEAEAR = 2
B I & 5 45 E N IR = 1
BHBHT
BB ER pRfA =, B4t 303 3




ELTTHESE

ANBIEELLHT-Y) HH#HE
£ Fp EE-E | KIEYM2) | BRLM2) | ERIEYM3) | EBERL(MI) k=
BEERENR 2.0 0.3 0.07 0.6 0.1
BEEEHEBEERNR 1.0 0.1 0.01 0.1 0.01
INET 0.7 0.1
=1 0.7 0.1




EHINEHEE

29 —A—41)—
(ExxT)
[FEERAEAR se1:30
—_— — p N
=) =)
(] L 2l o = f
S 2 S 2
= =
[=) [=)
0.90 0.50
1.00 0. 60

FR#E V=1.00%0.60%0.56=0.3m3
HERE V=0.3—1(0.30%x0.30%0.32+0.40 x0.40x0.10) x 2=0.07m3

SEHEHESERAR .,

wE| |

#ER
TITER N=28F

o
N
=)
& ~
d <t
=)
2—.—
0. 300 0. 300 = 0. 300
0.40° 0|04 0. 400 0. 400
BB V=0.84%0.40x 0. 42=0, 1m3 wE]
YEE V=0 1— (0.30%0.30x 0, 32+0. 40 x 0. 40 x 0. 10) x 2=0. 01m3 g

TTIER N=1EF




IR TIH=HEE $=1:250
Ay —0O—4%1)—

e ﬁ@ﬁm%mmwﬂg L L l \ Fr—’_—W___
BESAEAR 2% l \ S ]
| —

BRERBSENR N=15 | | | |
‘ ,

B

[
%ﬁ%%ﬁ%%%ﬁNﬂg

B 3+BRI4. 51 .




ZR R T E ST E Es-1.250
Ay —O0—421)—
(AZ )

BRI - B N=3EFT

| I
@*?é%ﬁﬁ?%ﬁ(ﬁ%ﬁ'liﬁ - B)
l N=1%ifT |
— m = T - e ——
R |- SR B ® 1%&%*\ EQ(%@']ﬁWE*ILﬁ)f ‘ NO. 2+10L5. 0 T L ‘
@ =l &R — R NO. 3L4.0
V4 Q@ L . % . | H 3"” N ' || %"—ﬂj
QiE#H M (BRAIRX - BHiER) #, e
N=1EFR NO. H‘J—j NO. 1 o, — %j EHEE T TS NO.3+5 -
. — — : 45— ol O S—— 1 no. 2o No. 3 |
y B e N i NO. 10 N jm%_u:ﬁ_ | \ D | NO.3+5R
‘ ﬂ W; TELEVEN b
‘c
| |
| a
‘ E NO.‘3+5RH.)5 o B
j 4 - |
2]
| e /4 (I
1 11T ) 10R26 B H %‘:L - B
i ; W \j[\f
— Al - K
| @ | 7T




BuMe s
ZwT . BEEEHIBENIR

e i
EmE BIE R BT T 5 R
: V®
© *
TR
= G. L. G.L.
7 7 7 4 ; \@ )
o / EREE
=fBDIFDFREI[E
g] 7 77 SERBLIESW
=ty [—I'jm — S [—I'jm
s T
1&ArEY
25l RO it g = B # =
ENESD H=1590 o
a2 y—+r| ock=18N/mm2 |0.300x0.300x0.500x 2 m?® 0.090
pip g 0.300%x0.500%x4x2 m? 1. 200
HEBRR RG-40, t=10cm |0. 400 x 0. 400 x 2 m? 0.320




BuMEFESE
ZHT . REFERARENIR

BEX
ﬁ
gl g| & 2
Z| = #® ©
g 2
§ 3]
527
900 500
1000 600
1&EE-Y
B Al B B B £l =X B & 2
e gme | EPIAR1860 X 560
%W*ﬁ:nﬁt H:1 ) gom % 1
BEfavoy—+ o ck=18N/mm2 |0. 900 x 0. 500 x 0. 600 m? 0.270
B (0. 90+0. 50) x 2 x0. 60 m? 1.700

EREa RC-40, t=10cm |1.00x 0. 60 m’ 0. 600




REfRRIHEEER
i Al i Al A % BT | = W =
29—
X E#R T O—41)—
BEE<T—Y
Bt — b (=03 1




XEFEIHNEHESE
RO —O—A21)—
At X ERR
R BEE, A —F B &R
p:l| =1 = b5 =
DOFEE<T—Y Q424 ) 1.0

1.0

b
nh




ERTHEHEE (3)  s=1:250 o
B S — hN=TE 2y o—O—A21)—
(XE - 888 - XF)

R |

|
— & 3 S - 1
TR J ...... D Aﬂf imas W \\\ m) o 0 o L—______ o —
® Bt — b \ — | \ ' ' NO. 3L4. 0
B - e @ (BEE<—- - 1.3x1.1 N3] @m0 J-l/r— |
HO,, =t _ |- :
N T ¢ MNO.TL NO. — j'J_:" i e !5#5:
7 ) i | A R R T TR S NN W%_Qﬂoi*w\ R o
- — il = P I
. | ﬂ q TELEVEN E
‘ q Ej
- TINE
<
‘ E NO! 3+5R14.
s

pE——
1
|

e —

il

——

IRTAREARIRN N ==

Ao 7 |

1A
\

\
I

[ N
I -
——

1

—]

— =

— =

— /ff

— 7

— = Ny y4

— =




i Al i Al 37 1% B = i =
29—
fEg+T O—% 1y —
FRAE Y ) m° 224. 4
R L B A RIE ImK i m° 192.2
B ER T
i T ILE —A =X 1
S I 2—B =X 1
BEEL TIILE— =X 1
BES T IILE— = 1
1584 H=790 & 5
288D H=850 & 4
HEBA LT H=10.0 HBHEX B 2




ELTTHESE

ANEIEELHY) FHHE
Z2X1 ER-E | KIEYm2) | BRLM2) | KIEYM3I) | EEERL(m3I) ik

15818 5.0 0.03 0.01 0.2 0.05
25 EHIED 40 0.01 0.001 0.04 0.002

IMNEE 0.2 0.05

r)LA—&E

SrLh— 224.2 192.1 | RS®

IMNEE 2242 192.1

=1 224.4 1922




HTEESINEHEE

2o —0O—421)—
(ExxT)
158HIESD .
S
o
,\ S
~— (e
st —I° wE]l ]
0. 30° 2R +TEE N=5EFF
0. 40Y

FR#E V=0.40x0.40x0.17=0.03m3
HERE V=0.03—0.30%x0.30x0.07—0.40%0.40x0.10=0.01m3

2EEIED oy

0.11 0.24
0.1

= | |

0. 25"
0. 357 wE] |

2R +TEE N=4EFH

PR#E V=0.35x1.35x0.11=0.013m3
HE V=0.013—0.25x0.25%0.01—0.35x 0. 35x 0. 10=0. 001m3



HTRERERIBEFESE s=1:250
29 —A0—421)—
1RO N BEELTLA— —3
25 LD N=A% BELILs—  —x
REEALT (H=10.0m) N=2% l l
EHYzLE—A —=X ]
Bz AS—B —R ISEIEH N=3F | | | | |
[ H} ‘ rH-I \ 2 B B E—
1%ﬁt' . | L NU. Z¥TULOS. U
= Evﬁvz;v&— 0.3L4.0,
| T rF= | - N ¢ 1
o _ = wgvzLs—8 ||| |
= 5 N+ 0110 11 .= Y
25 B — el "F‘. —] 5 NO. 2710
—. —= —— == ii 5 _ ﬂg\
ot 75U [+t 310t T “ﬂ e
FEY I —N l \
| !
_____ ‘ :I‘ri
\ m | i
- NO IbR14 Tl (H=10. Om
] __[o-Aks =
|
¥ |
wo L
p !
Gh\ry TR il
e e — b
\ — | B agu——
NO. b
=~ | Py |
<ﬁ.ﬁm—ﬁ4ﬂ+w é
e 7
T o | |




BuMe s

HtEMmERT . 15 E1E& (H=790)
BiEX
V—3—a1z=v b+ PCith
EEETF v TR, (A or BE)
R&t7F—7 203 Ui
BE 1 REERY T
FRP A /3 — (5 3 48)
EHMEFRP ¢ 115 % t5
3 / B HhyTaTP—k
| X# STK400 @ 114.3xt4.5
LA UEIERE
2 X BEE:F—9T59U(BET : DI19-208)
& FUh—HRIL b SS400 a1=H OA v
2 L
E@aL Y-+
- //W
- |
BRI
0 000 %00 \ s@rs
RC-40
0400
1RX&1-Y
! A% & g = B M 2
HIE®H H=1100, LED{st & X 1
garsy—+| ock=18N/mm2 [0.300x0.300x0.250 m? 0.023
B 0.300x0.250x4 m? 0.300
EEERA RC-40, t=10cm |0. 400 x 0. 400 m? 0.160




BuMe s
HEMRESRT . 2525 1o (H=850)

&
¢ F4 SUS304 ¢60.5xt1.5
ANTSA VLT
§ F—Z27% SUS304 t2.0
| INL L BFEE
S
—XZ  STKM13C ¢ 70xt2.3
| BRERA X
Y ' H@ar sy y—k
- o ck=18N/mm2
N 4
g
+ L j —
L1220 LA
RC-40
1350
1K%Y
|| RO B g = B # =
H=1100
BHik&H EHRX, St PN 1
ZgEarsy—+| ock=18N/mm2 |0.250x0.250x%0.250 m?* 0.016
B 0.250x0.250x4 m? 0. 250
HERRA RC-40, t=10cm |0. 350 % 0. 350 m? 0.123




§1. i TIL3— A-BHESE
1.1 T4k

7 7
4 Ew 4 410 T
AN R T b R-R T b
B 10x350350 | 19350350 |
|EEILE L, wvETILA L,
50x410x410 .%.a . $267.4x9.3 B0x410x410 .%m 267 4x9. 3
T HEL W T HEE N
N T e — o
7 T e St o ,%““7' Y PR Vil s 1
% o \\ {EE‘: ;; 1 ¥ i’i . ]1
g B = Wil O 600x600¢ \ _01600x600__J 1A /
LT TR T AL, Jo 2 4
— L ¥ o L=
8 2 L R f
o
P \‘ 1(‘
= RN :
100, 1.400 100 100 1800 0o,
400}, 1600 400 400 2 000 400
2 400 2 800
¥ & 267.4% 9.3 mm NR—R7 L —h
A, = 0.0562 n? PL— 19 X 350 X 350 mm
h, = 40050 m (Z2ZY—h LEED)
BV /L X2V 50 X 410 X 410 mm ( Ab 30 mm)
a7 —MRRE
600 X 600 X 750 mm
A, = 03600 m
27—k : B, = 1.400 m FEHEFAR 1.600 X 2.000 m
HEREAR L, = 1.800 m o 7Y — ] h, = 0100 m
H, = 0.600 m Weti h, = 0.200 m
12 : N = 3% GRS . D, 0.240 m
40 . D, = 0.200 m
PR . Dy 1.610 m
RIE A B ling 1:0.5
IR by 0.500 m



12 HERFR

S
' i LR - 1 WAL 7
1 A FAG -~ BANL WGy | 3Ty
F¥ELT RAE Ftek - +H) m’ 18.9 56.7
HERL B RHEEENE 1m BA_F4m i m’ 16.2 48.6
a7 —NERET 7)) —h 0 4= 24 N/mn? n 1.7 5.1
iy ERAAEEY) m 5.6 16.8
73] D13 kg 95. 285.
(SD345) D16~D25 D16 i - -
D19 i 38. 114.
/N Ef I 38. 114.
& &t I 133. 399.
Kb 2k i i 25 3% D13 0<L=1m %% Head—bar | fHFT 5. 15.
T L H IV FLIVIREAT m’ 0.01 0.03
JEmET HLars7)—k 0 4= 18 N/mn? n 0.3 0.9
o R b3 | iRy oA n’ 0.7 2.1
e t=20cm , RC-40 m 3.2 9.6
m) | ( 06) | ( 1.8)
13 HEFTE
131 %1+ T
(1) R
Vi = 1/6 X {2.40 X 4.41 + 2.80 X 4.01 + 2 X (2.40 X 2.80 + 4.01 X 4.41)} X 1.61
= 189 m’
(2) HEL
V, = 189 —2.73 = 162 n
PEBRRAE
FE: 0.60 X 0.60 X 0.71 = 0.26
a7 — NI 1.40 X 1.80 X 0.60 = 1.51
BLarzy—k : 1.60 X 2.00 X 0.10 = 0.32
HpEa 1.60 X 2.00 X 0.20 = 0.64

V

= 273 m’




132329 —hEH#T

(1) = 27Y—h (0 4= 24 N/mnt)
A s
FEH) 0.60 X 0.60 X 0.75 0.27
F -0.0562 X 0.68 -0.04
NR—2FL—h -0.35 X 0.35 X 0.019 0.00
HEHEE L2V -0.41 X 0.41 X 0.05 -0.01
FERE /NG 0.22
) — R | 140 X 1.80 X 0.60 1.51
a7 —MagEE 1.73
(2) 4 AP (BRI HEE)
S B
FHER ()
FEIE 2 X (0.60 + 0.60) X 0.75 1.80
a7 — R 2 X (1.40 + 1.80) X 0.60 3.84
BIRG R 5.64
(3) B (SD345)
S A
(kg)
D13 95.
D16 D16 —
~ D25 D19 38.
N 38.
S 133.

(3) PR AR A Tk

N = S5 f&HT
(4) G E L2V (TVIyIAZAT)
14 = 0.41 X 0.41 X 0.05 = 0.01 n?
133 BT
(H)BL=7V—h (0 4= 18 N/mn?)
14 = 1.60 X 2.00 X 0.10 = 0.32 o7
(2) &> A (BILILY)
A = 2 X (1.60 + 2.00) X 0.10 =
(3) At (=20cm,RC-40)
A = 1.60 X 2.00 =
14 = 1.60 X 2.00 X 0.20 = 0.64 n’

(D13 0<L=1m)

%7 :Head —bar

0.72 m?




§2. BEESTILI— BEHE

2.1 f2HK

4 410 5 010 ]
Ay O J Y N % R F e b
2 1105410 | § 2 194105410 |
BERELAD : ELAIL
SOAIONATO | ke, 35 63556111 | SOOI\ e B $365. 6111, 1
- 'i_\“-‘. H % - ."\\52 3
M HER 4l o 7 AHES W
£ T P it zw ¥ St !ﬁc‘{)f \\ T i'ii:‘-’ X TR, ;
2 o N Wil am / Y HH ffxi ‘ 7
o LIS * At H L) Y i
% : m ,;} ;&% e [.650x650 ;éf’ g T_\ JL1.650x650 ;}%4\ ,'i;
§ ‘9"‘\ ) . L ;‘\' - ‘.i;\ e : i ;{’Ef'h
gé o \‘ i ,; \\ 1 l/
g‘ \“% : mm“; \“m 1 @.“X
100 1800 100 10 2 200 100
400 2 000 400 0 2 400 4
2 800 3 200
F 355.6X 11.1 mm NR—2F L —}
A, 0.0993 PL— 19 X 410 X 410 mm
h, = 40050 m (Z2ZY—h LEED)
BV /L X2V 50 X 470 X 470 mm ( Ab = 30 mm)
a ) —hMMREE
650 X 650 X 950 mm
4, 0.4225 1
) —h B, = 1.800 m FERER 2.000 X 2400 m
FEREIIR L, = 2200 m o 7Y — ] h, = 0100 m
H, = 0.600 m e h, - 0.200 m
B2 N = 3% GRS D, = 0.240 m
+#v D, = 0.200 m
PR D, = 1.810 m
RAE AL ln, = 1:0.5
FRAFR A by = 0.500 m



22 HEKHE

gy
I /(t Y -~ RYPTH NG
eI A JHHE - ~TE Sy | 3ELD
EE+T R Ftek - +H) 28. 84,
HERL B RHEEENE 1m BA_F4m i 23.8 71.4
a7 —RERET a7 —k 0 4= 24 N/mm? 2.7 8.1
iy ERAAEEY) 7.3 21.9
A D13 112. 336.
(SD345) D16~D25 D16 38. 114.
D19 43, 129.
INFE 81. 243.
& &t 193. 579.
Mg e s Tk DI3 0<L=Im %% Head—bar | fHFT 8. 24.
T L H IV FLIVIREAT m’ 0.01 0.03
AT HLars7)—k 0 4= 18 N/mn? n 0.5 1.5
4 FIRIP YU n’ 0.9 2.7
s t=20cm , RC-40 m 4.8 14.4
(m’ (1) (3)
23 HEFHE
231 1E¥%1T
(1) R
Vi = 1/6 X {2.80 X 5.01 + 3.20 X 4.61 + 2 X (2.80 X 3.20 + 4.61 X 5.01)} X 1.81
p— m3
(2) HEL
V, = 28.0 — 4.20 = 23.8 nr
PEBRRAE
FE: 0.65 X 0.65 X 0.91 = 0.38
a7 — NI 1.80 X 2.20 X 0.60 = 2.38
BLarzy—k 2.00 X 2.40 X 0.10 = 0.48
HpEa 2.00 X 2.40 X 0.20 = 0.96

V

= 420 nt




2322V —hERT

(1) = 27Y—h (0 4= 24 N/mnt)
A s
FEH) 0.65 X 0.65 X 0.95 0.40
F -0.0993 X 0.88 -0.09
N—Z2F L —h -0.41 X 0.41 X 0.019 0.00
HEHEE L2V -0.47 X 0.47 X 0.05 -0.01
FERE /NG 0.30
) — LR | 1.80 X 2.20 X 0.60 238
a7 —MagEE 2.68
(2) 4 AP (BRI HEE)
HE N fﬁ
FEIE 2 X (0.65 + 0.65) X 0.95 2.47
ENTPRNS ¥ 2 X (1.80 + 2.20) X 0.60 4.80
RPEGF 7.27
(3) B (SD345)
S A
(kg)
D13 112.
D16 D16 38.
~ D25 D19 43,
Ny 81.
S 193.

(3) PR AR A Tk

(D13 0<L=1m)

N = 8 T

(4) BILHEENLZ IV (VI TAREAT)
14 = 0.47 X 0.47 X 0.05 =

233 EMET

(H)BL=7V—h (0 4= 18 N/mn?)
14 = 2.00 X 2.40 X 0.10 =

(2) 4 TR (L)
A = 2 X (2.00 +2.40) X 0.10 =

(3) A (=20cm,RC-40)
A = 2.00 X 2.40 =
v = 2.00 X 2.40 X 0.20 =

0.01 m’

0.48 m’

0.96 m’

%7 :Head —bar

0.88 m’



§3.BEITILFY— (1) BEFTE
31 BESTILE— (1)

3.1.1 Bk
3§m _ _ 3 860
Ko 2 F Lo b RemZ Sl b
I 19xi0000 | P 19x300x300 |
WREEE LA WHEE/LZL
50x360x360 ﬁ» i $216.3x8.2 -50x360x360 | b
v aEE ] L K7 HEs W
= L JUR s il
A = I T X5 T R TR o7 i T
g B 8 b1y L (1 550x550 \ ;M; []_550x850
™ : N dii{:‘) o = T 1 P
-8 =g T - E= C.J ; <y
T o (;’-\‘ W o i~
?*; .\ 4 ‘\ f;
% ‘“"M - \.,_._@i ; ;m,ﬂ.f
100 1200 100 100 1400 3o
400 1.400 409 400, 1600 400
2 200 2 400
F ¢ —  2163X 82 mm N—27L—}h
A, = 00367 m PL— 19 X 300 X 300 mm
h, = 40050 m (Z>ZY—k LEED)
IV XL ;50 X 360 X 360 mm ( Ab = 30 mm)
Iy MREE
550 X 550 X 600 mm
A4, = 03025 m
a7)—h . B, = 1.200 m FEHERAR : 1.400 X 1.600 m
HEREAR L, = 1.400 m B =N ) h, = 0.100 m
H, = 0.600 m et h, = 0.200 m
% . N = 5 3 EiES e . D, = 0.240 m
LY . D, = 0.200 m
RIRE . D, = 1.460 m
PR ) colmy = 1:0.5

IR © bg = 0.500 m



312 $hEKitE

S
' i LR - 1 HAT e 7
1 A FAG -~ BANL WGy | SETY
F¥ELT RAE G R m’ 13.6 68.
HERL B RHEEENE 1m BA_F4m i m’ 11.8 59.
a7 —NERET a7 —h 0 4= 24 N/mn? n 1.2 6.
A AP ERAAEEY) n’ 4.4 22.
N D13 kg 69. 345,
(SD345) D16~D25 D16 i
D19 1 23. 115.
N 1 23. 115.
& E J 92. 460.
Kb 2k i i 25 3% D13 0<L=1m %% Head—bar | fHFT 6. 30.
T L H IV FLIVIREAT m’ 0.01 0.05
T BjLa7y—h 04— 18 N/mn? nr 0.2 1.
4 BT LR P nt 0.6 3.
e t=20cm , RC-40 m 22 11.
m) | ( 05) | ( 25)
313 HEFTE
3131 k%11
(1) R
Vi = 1/6 X {2.20 X 3.86 + 2.40 X 3.66 + 2 X (2.20 X 2.40 + 3.66 X 3.86)} X 1.46
13.6
(2) HEL
v, = 136 — 1.85 = 11.8
PEBRRAE
FE: 0.55 X 0.55 X 0.56 = 0.17
a7 — NI 1.20 X 1.40 X 0.60 = 1.01
BLarzy—k 1.40 X 1.60 X 0.10 = 0.22
HpEa 1.40 X 1.60 X 0.20 = 0.45

V

= 1.85 m’




3132aV9)—hERT

(1) =2 27)—k (0 4= 24 N/mmd)
2t fﬁ
FEI) 0.55 X 0.55 X 0.60 0.18
F -0.0367 X 0.53 -0.02
R—Z2F L —h -0.30 X 0.30 X 0.019 0.00
M HEE LAV -0.36 X 0.36 X 0.05 -0.01
FERENE 0.15
) — N | 120 X 1.40 X 0.60 1.01
7Y —h ik 1.16
(2) 4 AP (BRI HEE)
e B
FHHE ()
FEIE 2 X (0.55 + 0.55) X 0.60 1.32
a7 — N 2 X (1.20 + 1.40) X 0.60 3.12
TP Et 444
(3) B (SD345)
R
(k)
D13 69.
D16 D16 —
~ D25 D19 23.
AN 23.
A &t 92.

(3) W=k A Tk (D13 0<L=1m) %% :Head —bar

N = 6 f&FT
(4) G E L2V (FVIvIAZAT)
14 = 0.36 X 0.36 X 0.05 = 0.01 n?
3133 EBET
() L= 27y—kK (04= 18 N/mm’)
14 = 1.40 X 1.60 X 0.10 = 0.22 o7
(2) 4RI (FILTU )
A = 2 X (140 + 1.60) X 0.10 = 0.6 nt
(3) At (=20cm,RC-40)
A = 1.40 X 1.60 = 22 ot

V = 1.40 X 1.60 X 0.20 = 045 m’



§3. BREIIILI— HEFHE
32 BELTILE—(2)
3.2.1 F2IK

¢ £
3360 4 060 !
Ao R L | A Y A
2 19x350x350 i B 19x350x350
ARSI WA,
SRR LB 267.4x0.3 SEEE L B $267.409.3
7 HES IR B HES R
: v T
stg g R S FER P Iéﬁ‘-‘-" :r_-f T e p o
s B & - wiol [ 600x600 \ 0 600xa00
<& e L-k Jo @ - ' oo
b g 2 C—-J : L3 Py - 'Q 4 Py
I ‘fh\ 1’»". W (J“\ 1,'\‘
% x T 4 1Y /
g’?‘ L { s — S - T -
100 1400 100 10 1600 100
400, 1.600 400 400 1,800 400
2400 2600
FE C ¢ 2674X 93  mm N—=27L—h
A, = 0.0562 nt PL— 19 X 350 X 350 mm
h, = 40050 m (Z22U—h EHiLY)
IV XL 50 X 410 X 410 mm ( Ab 30 mm)
ALy —MRE&E
600 X 600 X 600 mm
A, = 03600 nt
a7 —h P 1.400 m AR 1.600 X 1.800 m
HEREAR L, = 1.600 m o 7Y — ] h, = 0100 m
H, = 0.600 m Weti h, = 0.200 m
% . N 1 5 EiES e . D, = 0.240 m
LY . D, = 0.200 m
PRI D, = 1.460 m
7R KA ling, = 1:0.5
PRIE A by = 0.500 m



322 $EKitE

gy
' i LR - 1 WAL 7
1 A FAG -~ BANL Ny | 1Ry
F¥ELT RAE G R m’ 15.5 15.5
HERL B RHEEENE 1m BA_F4m i m’ 13.1 13.1
a7 —NERET a7 —h 0 4= 24 N/mn? n 1.5 1.5
A AL B E n 5. 5.
N D13 kg 86. 86.
(SD345) D16~D25 D16 i -
D19 1 34. 34.
N E I 34. 34.
& E N 120. 120.
Kb 2k i i 25 3% D13 0<L=1m %% Head—bar | fHFT 5. 5.
T L H IV FLIVIREAT m’ 0.01 0.01
AT HLars7)—k 0 4= 18 N/mn? n 0.3 0.3
o R b3 | iRy oA n’ 0.7 0.7
s t=20cm , RC-40 m 2.9 2.9
m) | ( 06) | ( 06)
323 MEHE
3231 k%Lt T
(1) R
Vi = 1/6 X {2.40 X 4.06 + 2.60 X 3.86 + 2 X (2.40 X 2.60 + 3.86 X 4.06)} X 1.46
155 m’
(2) HEL
V, = 155 — 2.41 = 13.1
PEBRRAE
FE: 0.60 X 0.60 X 0.56 = 0.20
a7 — NI 1.40 X 1.60 X 0.60 = 1.34
BLarzy—k 1.60 X 1.80 X 0.10 = 0.29
HpEa 1.60 X 1.80 X 0.20 = 0.58

V

= 241 ot




3232V —hERT

(1) = 27Y—h (0 4= 24 N/mnt)
A s
FEH) 0.60 X 0.60 X 0.60 0.22
F -0.0562 X 0.53 -0.03
NR—2FL—h -0.35 X 0.35 X 0.019 0.00
HEHEE L2V -0.41 X 0.41 X 0.05 -0.01
FERE /NG 0.18
) — R | 140 X 1.60 X 0.60 1.34
27—k 1.52
(2) 4 AP (BRI HEE)
S B
FHER ()
FEIE 2 X (0.60 + 0.60) X 0.60 1.44
a7 — N 2 X (1.40 + 1.60) X 0.60 3.60
BIRG R 5.04
(3) B (SD345)
S A
(kg)
D13 86.
D16 D16 —
~ D25 D19 34,
Ny 34.
& B 120.

(3) W=k A Tk (D13 0<L=1m) %% :Head —bar

N = S5 f&HT
(4) G E L2V (TVIyIAZAT)
14 = 0.41 X 0.41 X 0.05 = 0.01 n
3233 KT
(H)BL=7V—h (0 4= 18 N/mn?)
14 = 1.60 X 1.80 X 0.10 = 0.29 n
(2) 4 BRI (HILTE )
A = 2 X (1.60 + 1.80) X 0.10 = 0.68 nt
(3) At (=20cm,RC-40)
A = 1.60 X 1.80 = 29 nt
14 = 1.60 X 1.80 X 0.20 = 0.58



HEMIER  KFRIONIHS L2 —

X BIEE
THEE3! EBAL HHE - T Bz | EE L [BEE L | BEY L |20 -2 | EVEY L &t Hfi % #E
2—A 2—B f= Gl= NR— f=
EEIE BiR SUA=VEBRTIVINZA LSRRIV 54 13.45 15.69 43.26 77.66) 59.08 74.28 283.42|m 7 v REE e B
EEIE XFeY LRY SS400 CT-200x97.5x8x12 L=150 4 4 10 32) 22 21 93|fEAT  |AREIN G o T
EEIE XFeY LR Y SS400 L-100x100x10 L=150 4 4 4 4 8 6 30|fEAT ARG o S
EEIE HTB M16x55 F8T 16 16 28 72) 60 54 246(4
EERIE AR+ M12x55 SUS 24 24 48 136 104 96 432| 4
®EIE BikF vy 7 M12/8 24 24 48 136 104 96 432
EEIE iR TV IR 5x65 5.00 5.00 8.00 5.50 11.00 17.96 52.46|m 7 v REERE(T B T
EEIE et TR =F75x65 5.86 6.84 11.50 30.83] 2495 79.98|m 7 v REE e B T
EEIE aFhE 7L IR 100x55 5.86 6.84 11.50 30.83 24.95 10.94 90.92|m 7 v REERE(T B T
EETE HEBREENN— BR - K |70 IS =20 216.3x2284 (BR)  216.3x256.9 (KH) 2 2|ERT P <= Tt
EERIE HEBHEE HA— BIR - RHF |70 RS =20 216.3x253 (E1R)  216.3x282 (K3F) o|ERT 7 v REERE(T B T
EERIE HEBHES HA— BIR - RHF |70 RS =20 216.3x3234 (E1R)  216.3x351.9 (RFH) 3 3|E AT 7 v REE e B T
EEIE HEBHEE HA— BIR - RHF |70 RS =20 216.3x3784 (E1R)  216.3x406.9 (RFH) 5| 3 8| AT 7 v REERE(T B T
EEIE HEBHEES H - BIR - RHF |70 RS =20 216.3x647.6 (E1R)  216.3x676.1 (RFHF) O|ERT 7 v REERE(T 2R T
EEIE HEBHEE HA— BIR - RHF |70 RS =20 267.4x2034 (B1R)  267.4x231.3 (RFH) O|ERT 7 v REE e B T
EEIE HEBHEE HA— BIR - RHF |70 RS =20 267.4x353.4 (E1R)  267.4x381.3 (RH) 1 2 3|E AT 7 v REERE(T B T
EERIE HEBHEE H - BIR - RHF |70 RS =20 267.4x368.6 (E1R)  267.4x396.3 (RFH) 1 1 2|7 7 v REERE(T B T
EERIE HEBHEE HA— BIR - RHF |70 RS =20 355.6x265.2 (E1R)  267.4x293.1 (RFH) 1 1| EAT 7 v REERE(T B T
EERIE Bit HSR (Bf5I#IE Y a—>TL) ZRHRT v+ (EPDM-S) 18.98 36.86 21.97 54.75 138.55\m
EEIE ELO TR ¢50 L=50 FHEEfEE 1 1 2 6] 4 2 16| EIAT
EEIE B8 TR g60x2 EMfFEE. FL bR ihsY 2.80 3.20 6.35 16.84f 1271 7.22 49.11|m 7 v REERE(T R
®EIE LED§RES aHh (BAe) 1 2 3 5 4 4 19| EIAT
Bk L% HRYy AT 1A Y a—rFRy—U v (SR-1) 18.98 36.86 27.97 54.75 138.55|m
BikT=E Bith 15x10 2 A ERY Y a—> Ry —U v 7 (MS-2) 16.72 18.67 31.00 67.17 60.91 28.90 223.36|m
BAk I = BizkF v v ZEUT (M12/8) 1EHFE> Y a—vRy—U v 7 (SR-1) 24 24 48 136 104 96 432
BAkT= @y 2HAHMERS Y A= Ry —U v I (MS-2) 2 2 6] 4 5 19| EiAT
BAk I = 14x10 (ZF£HCT) 2HAHERS Y A= Ry —U v I (MS-2) 4 4 10 32) 22 21 93| B AT
Bk I = 14x10 (ZFEHL) 2HAHERS Y A= Ry —U v I (MS-2) 4 4 4 4 8 6 30| AT

1/11



T EHRSHEE  KFFRIOLHY 2 LR —
X4 THER i MWH - & W1(m) L1(m) W2(m) L2(m) B FT HE EAL &%
BT T LR —A S£EIS EiR SYD—VEETILINZALARIL =54 13.45|ni
2.30 5.86 1 13.45|mi
Ry LR —A 2EIS *FEY £EBY $S400 L-100x100x10 L=150 4| & T
2 4| & T
By L& —A 2EIS *FEY £EBY SS400 CT-200x97.5x8x12 L=150 4| & T
2 4| & T
B LR —A SEIS HTB M16x55 F8T 16|24
4 EJES
4 8|4
B LR —A &EBEI=S AR b M12x55 SUS 24|74
4 EJES
4 16|14
B LR —A S2EIS BikF vy 7 M12F 24/f&
By L& —A &EBEI=S IR TV IS 5x65 5.00|m T
250 2 5.00|m
By L& —A 2EIS [t TR =f575x65 5.86|m T
5.86 1 5.86|m
Ry LR —A 2EIS R TR 100x55 5.86|m T
5.86 1 5.86|m
B LR —A £EI=S HEBRESHN— BIR - X 7L ARES =20 267.4x3534 (E1R)  267.4x381.3 (KH) 1 1| @A T
B LR —A £EI=S HEBRESHN— BIR - XH 7L ARES =20 355.6x265.2 (E1R)  267.4x293.1 (KH) 1 1| @A T
B LR —A 2EIS ELO TV IHES  $50 L=50 BAEEfEE B 1 1| @A
B LR —A £EBEI=S 248 TR ¢g60x2 EfFEE. R bE FihbY 2.80|m
2.80 1 2.80|m
By L& —A 2EIS LEDFRRA wmHAh (BE®) 1 1| @A EC#RR & : 6.345m
BT T LR —A BHAk T 14x10 (ZFF£YL) 2EATRERY Y A—>Fy—1 I (MS-2) 4| & T
B T LR —A BHAk T 14x10 (ZF£HCT) 2EHTRERY Y A= R —1 v I (MS-2) 4| & T
BV LA —A Bk T Bk v v TEAE (M12/8) LAY U a—>rRy—Y ¥ oH (SR-1) 24|18
BT T LR —A BHAR T B#b 15x10 2 OFERY U a—>F > —U > 7 (MS-2) 16.72|m
5.00 1 5.00|m iR
5.86 1 5.86|m 5
5.86 1 5.86|m [ag)

2/11



T EHRSHEE  KFFRIOLHY 2 LR —
X4 THER i MWH - & W1(m) L1(m) W2(m) L2(m) B FT HE EAL &%
BT T LR —A Bk T FEY 2RATERY ) a—>Fy—1 v I (MS-2) 2| FT
B T L2 —B 2EIS EiR SYD—VEETIVINZ AL =54 15.69|ni
2.30 6.84 1 15.69| mi
i L2 —B 2EIS *FEY £EBY $S400 L-100x100x10 L=150 4| & T
2 4| & T
iy /L2 —B SEIS *FEY £ERY SS400 CT-200x97.5x8x12 L=150 4| & T
2 4| & T
B L2 —B 2EIS HTB M16x55 F8T 16|24
4 8|4
4 EJES
B L2 —B £EBEI=S AR b M12x55 SUS 24|74
4 EJES
4 16|14
B LR —B 2EIS BikF vy 7 M12F 24/f&
iy /L2 —B &EBEI=S IR TV IS 5x65 5.00|m T
250 2 5.00|m
iy /L2 —B 2EIS %) TR =f575x65 6.84|m T
6.84 1 6.84|m
iy /L2 —B S2EIS FHE TR 100x55 6.84|m T
6.84 1 6.84|m
B L2 —B £EI=S HEBRESHN— BIR - XH 7L ARES =20 267.4x3534 (E1R)  267.4x381.3 (KH) 2 2| RT T
B L2 —B 2EIS ELO TV IHHES  $50 L=50 BAEEfEE 1 1| @A
B L2 —B &EBEI=S 248 TR ¢g60x2 EfFEE, R bE FihbY 3.20|m
3.20 1 3.20|m
iy /L2 —B 2EIS LEDFRRA wmHAh (BE®) 2 2| & RT EC#RR & © 11.602m
B T L2 —B BHAk T 14x10 (ZFF£YL) 2RNTERY ) a—rFy—1 v I (MS-2) 4| & T
B T L2 —B BHA T 14x10 (ZF£HCT) 2RNTERY ) a—r Ry — 1 v I (MS-2) 4| &7
EH L4 —B Bk T Bk v v TEAE (M12/8) LAY U a—>rRy—Y ¥ oH (SR-1) 24|18
B T L2 —B BHAR T B#b 15x10 2 OFERY U a—>F > —U > 7 (MS-2) 18.67|m
5.00 1 5.00|m iR
6.84 1 6.84|m 5

3/11



T EHRSHEE  KFFRIOLHY 2 LR —
X4 THER i MWH - & W1(m) L1(m) W2(m) L2(m) B FT HE EAL &%
6.84 1 6.84|m [ag)
B T L2 —B Bk T FEY 2RNTERY ) a—rFy—1 v I (MS-2) 2| FT
HlEEY TR — &EBEI=S EiR SYIA=VERTILINZALASRIL 254 6 43.26|nf
1.89 3.80 1 7.18|m
1.90 3.80 4 28.89(ni
1.90 3.80 1 7.19|m
BlEEY L& — SEIS *FEY £ERY $S400 L-100x100x10 L=150 4| & T
2 4| & T
HlEEY TR — £EIS *FEY £EBY SS400 CT-200x97.5x8x12 L=150 10| &7
5 10| &7
BiEE L& — 2EIS HTB M16x55 F8T 28|74
4 EJES
10 20|74
BiEE L& — £EI=S AR b M12x55 SUS 48|74
4 EJES
10 40|74
BiEE L& — 2EIS BikF vy 7 M12F 48|f&l
BiEE t L& — £EBEI=S IR TV 5x65 8.00|m T
4.00 2 8.00|m
BiEE L& — S2EIS %) TR =f575x65 11.50|m T
1150 1 11.50(m
BiEE L& — SEIS FHE TR 100x55 11.50|m T
1150 1 11.50(m
BiEE t L& — 2EIS ELO TV IHES  $50 L=50 BAEEfEE 2 2|BERT
BiEE t L& — £EBEI=S 248 TR ¢g60x2 EfFEE, R bE FihbY 6.35|m
3.18 2 6.35|m
BiEE t L& — 2EIS LEDFRRA wmHAh (BE®) 3 3| AT EC#RR & © 19.500m
BiEE L& — 2EIS b HSR (B5I#M Y a—>3L) ZRAR4T v + (EPDM-S) 18.98|m
3.80 5 18.98|m
BlEES TR — Bk TH H R4y FEU 1BAKY Y a—>rFy—U v It (SR-1) 18.98|m
3.80 5 18.98|m
HREEY T LR — BHAR T 14x10 (ZFF£¥L) 2RNTERY ) a—rFy—1 v I (MS-2) 4| &7

4/11



T EHRSHEE  KFFRIOLHY 2 LR —
X4 THER i MWH - & W1(m) L1(m) W2(m) L2(m) B FT HE EAL &%
HREEY TR — BHAk T 14x10 (ZF£HCT) 2EATRERY Y A= Ry —1 I (MS-2) 10| &7
BiEE L& — BHk T Bk * v v ZEAT (M12F8) LA Fy ) a—rRy—U I (SR-1) 48|f&l
BiEE L& — BHAk T E#b 15x10 2 O ERY U a—>F > —U > 7t (MS-2) 31.00{m
8.00 1 8.00|m iR
11.50 1 11.50|m 5
11.50 1 11.50|m [ag]
fEEs T L& — SEIS EiR SYD—VEETIVINZALARIL =54 77.66|ni
1.97 2.55 1 5.01|ni
1.98 2.55 3 15.12|mi
1.64 2.55 6 25.04|n
1.66 2.55 3 12.67|m
1.90 2.55 3 14.54|mi
2,07 2.55 1 5.27|m
[FES T L& — S2EIS *FEY £EBY $S400 L-100x100x10 L=150 4| & T
2 4| & T
[ z L& — 2EIS *FEY £BY SS400 CT-200x97.5x8x12 L=150 32| AT
16 32| AT
fEEs T L& — 2EIS HTB M16x55 F8T 72|
4 8|&
32 647
fEEs T L& — £EBEI=S AR b M12x55 SUS 136| %
4 8|&
32 128|4%
fEEs T L& — SEIS BikF vy 7 M12F 13618
fEEs T L& — £EIS IR TV IS 5x65 5.50|m T
2.75 2 5.50|m
fEEs T L& — 2EIS %) TR =f575x65 30.83|m T
30.83 1 30.83|m
fEEs T L& — 2EIS R TR 100x55 30.83|m T
30.83 1 30.83|m
S TR — £EI=S HEBRESHN— BIR - XH 7L ARE S =20 216.3x3784 (E1R)  216.3x406.9 (KH) 5 5| AT T4
fEE T L& — £EI=S HEBRESHNN— BIR - XH 7L IARER S =20 267.4x368.6 (E1R)  267.4x396.3 (KH) 1 1| @A T
fEE T L& — 2EISE ELO TV IHHES  $50 L=50 BAEEMEE b 6 6| AT
fEE T L& — &EI= 248 TIPS ¢g60x2 EfFEE, R bE FihbY 16.84|m

5/11



T EHRSHEE  KFFRIOLHY 2 LR —
X4 THER i MWH - & W1(m) L1(m) W2(m) L2(m) B FT HE EAL &%
2.81 6 16.84|m
[ z L& — 2EIS LEDFRRA wmHAh (BE®) 5 5| AT BfR&R & © 43.052m
fEEs T L& — 2EIS b HSR (B5I#M Y a—>3L) ZRART v+ (EPDM-S) 36.86|m
1.90 6 11.41|m
255 10 25.45|m
fEEs T L& — Bk TH H &4y FEUS 1Ay Y a—>rFy—U v It (SR-1) 36.86|m
S TR — BHAk T 14x10 (ZFF£YL) 2RATERY ) a—>Fy—1 v I (MS-2) 4| & T
fEES TR — BHAk T 14x10 (ZFF£HCT) 2EATERY Y A= R —1 I (MS-2) 32| AT
fEEs T g — Bk T Bk v v TEUF (M12/8) LAY Y a—>Fy—Y v oH (SR-1) 13618
fEES TR — BHAk T E#b 15x10 2 OFERY U a—>F ¥ —U v 7t (MS-2) 67.17|m
5.50 1 5.50|m iR
30.83 1 30.83|m 5
30.83 1 30.83|m [ag]
fEES TR — Bk T @Y 2RNTERY ) a—v Ry —1 v I (MS-2) 6| AT

6/11



KRFEREOLSY b2 — KEHRER

=
BRI 7t By | #Ev s | BEE |BEY | 43— [EVERY A§+ EfiL &
LE—A| L&—B | vz NR— DEY % I =

AFEHE 216.3x82 STK400 165.03 351.11 0.00 794.43 479.06| 1229.66 3019.29|kg
AFEHE 267.4x93 STK400 0.00 0.00 0.00 316.31 224.55 0.00 540.85|kg
AFEHE 355.6 X 11.1  STK400 0.00 0.00| 129823 0.00 0.00 0.00 1298.23|kg
H #25 H-200 X 100X 55%8 $S400 307.23 328.13 480.28| 159358  1353.11 202.94 4265.27|kg
H 23 H-194x150x6Xx9 SS400 0.00 0.00 0.00 0.00] 0.00[ 1523.70 1523.70|kg
H 23 H-294 X200 X8 %12 SS400 0.00 0.00 646.50 0.00] 0.00 0.00 646.50|kg

B 472.26 679.24| 242501| 2704.32] 2,056.71| 2,956.30 11293.84|kg

g (5.00%)% @D x1.05 495.88 71321| 2,546.26| 2,839.53] 2,159.55| 3,104.12 11858.53|kg
A PL-19 S$S400 18.35 36.69 75.17 85.46| 58.62 80.54 354.83 (kg
A PL-16 SN490C 25.12 50.24 124.34 114.55 78.88 107.01 500.14|kg
A PL-16 SS400 0.00 0.00 14.57 14.57) 7.29 0.00 36.43|ke
A PL-9 SS400 17.38 23.17 4373 111.20 90.50 171.04 457.04|ke
A PL-6 SS400 15.83 13.57 14.93 41.26| 26.75 51.72 164.05|kg
A PL-45 SS400 0.21 0.21 0.42 1.27 0.99 0.57 3.67|keg

B 76.88 123.88 273.17 368.32 263.02 410.88 1516.15|ke

kg (3.00%% @Dx1.03 79.19 127.60 281.37 379.37 27091 423.20 1561.64|keg
TrHh—FL bk (1R%5)|M16 %680 4 8 12 24 16 24 88|
HT.B M16 X 55 S10T 0 0 0 0 0 112 112|K
HT.B M16 x50 S10T 64 0 32 0 0 0 96|24
HT.B M16 x 45 S10T 16 0 8 0 0 28 52|A&
HT.B M16 x40 S10T 8 14 12 64 50 38 186K
ShE iR ;i{;z LoABHY Y 7Y T 77 A% 2MRENRE UL A b AT 2 15.88 20.37 53.92 84.57 67.00 86.24 327.97|m
#HEt R MifErtE 22 (DP) LRERENT 7 v RHRER 15.35 19.51 50.74 82.09| 65.31 83.86 316.86|m




RXFRILOLES LS — HEREHES

FL—t FOS N P o BB = kS ®
o o N fior= i = 5 ki
THES i £5 HE - ik Rl e | e | e | RRO\REER) gy lgm | RR | ER ) ggm | ERUS TR TS [@uw | £ s
(mm) (m) (m) (kg/m) (m) |Z#@E#% | () ()
ERILZ—A
53 C1 |[2163x82 STK400 0.75 3920 1 1 3.920 42.10 16503 [kg | 0.679 2.66 2.25
Cc3 [355.6x11.1 STK400 0 1 0000 |  0.000 94.30 000 kg | 1.116 0.00 0.00
R—2R7L—} PL-19 SS400 350 x 350 19| 785 035 035 0.123 1 1 0.123 149.15 18.35 |ke 2 0.25 0.12
EAT 77 L PL-16 SN490C 317x317 16| 785 0317 0317 0.100 2 1 0.200 125.60 25.12 |keg 2 0.40 0.40
T h—FF (RE) M16 % 680 55400 4 1 4%
M16X 680 SS4001a LR A ARMEIND > FALE (HDZ35)
AR ©G2 |H-200% 100558 SS400 1.550 1 2 3.100 20.90 64.79 |kg | 0.775 2.40 2.40 |#EREMD
REbHR CG2 |H-200%100%x55%8 SS400 1.350 1 1 1.350 20.90 2822 |kg | 0.775 1.05 1.05
B2 |H-200x100%x55%x8 SS400 3.200 1 1 3.200 20.90 66.88 [kg | 0.775 248 2.48
B2A |H-200% 100X 558 SS400 3.200 1 1 3.200 20.90 66.88 [kg | 0.775 248 248
B3 |H-200x100x55x8 SS400 1.250 1 2 2500 20.90 52.25 |kg | 0.775 1.94 1.94
©B2 |H-200% 100X 55%8 SS400 1.350 1 1 1.350 20.90 2822 kg | 0.775 1.05 1.05
PEYa PL-6 SS400 140x 170 6 785 014 017 0.024 2 4 0.192 47.10 9.04 |k 2 0.38 0.38
HTB M16x50 S10T 16 4 64 | &
HTB M16x 45 S10T 4 4 16 | &
ErEs
Hey b TL—h PL-9 SS400 184 x137.2 9| 785 o0.184 01372 0.025 1 4 0.100 70.65 7.07 |keg 2 0.20 0.20
U77L—k PL-9 S$S400 184 % 37.2 9| 785 0.184 00372 0.007 1 4 0.028 70.65 1.98 |ke 2 0.06 0.06
HTB M16x40 S10T 2 4 8 | &
SNEVEEM7 7 AF—|fst  [PL-9  SS400 160 x 81 9| 785 o016 0081 0013 1 4 0.052 70.65 367 |ke 2 0.10 0.10
fs2 |PL-9 SS400 160 % 99 9| 785 016 0099 0.016 1 2 0.032 70.65 2.26 |kg 2 0.06 0.06
fs3 |PL-9 SS400 160 > 106 9| 785 016 0.106 0.017 1 2 0.034 70.65 2.40 |kg 2 0.07 0.07
BRBEEA7 7 A — |1 |PL-45 SS400 32683 45/ 785 0032| 00683 0.002 3 1 0.006 35.33 0.21 |kg 2 0.01 0.01
HRBEREE f1 |PL-6 SS400 380 x 380 6 7.85| 038 0.38 0.144 1 1 0.144 47.10 6.78 |ke 2 0.29
1588 | 1535
B 2 -B
5 C1 [2163x82 STK400 06 4170 1 2 8.340 42.10 351.11 |kg | 0.679 5.66 5.05
R—R7L—} PL-19 SS400 350 x 350 19| 785 035 035 0.123 1 2 0.246 149.15 36.69 |k 2 0.49 0.25
EAT 77 L PL-16 SN490C 317x317 16| 785 0317 0317 0.100 2 2 0.400 125.60 50.24 |kg 2 0.80 0.80
TrA—FRIL L (1B M16 X 680 4 2 PEES
M16X 680 SS4004a U0 A ARMEBIND > FALE (HDZ35)
FRFHR G2 |H-200x 100X 55x8 S5400 1.550 1 2 3.100 20.90 64.79 kg | 0.775 2.40 2.40

8/11




H > =
K FERILOAEH TILE— BEHREHEE
RS Fr—t | FL—t - BB = e Ed
o o 4 REBE i = = k
THES i £5 HE - ik Rl e | e | e | RRO\REER) gy lgm | RR | ER ) ggm | ERUS TR TS [@uw | £ s
(mm) (m) (m) (kg/m) (m) |Z#@E#% | () ()
Fibp CG2 |H-200% 100X 55%8 SS400 1.050 1 1 1.050 20.90 2195 kg | 0775 0.81 081
B2 |H-200x100%x55x8 SS400 4,000 1 1 4,000 20.90 83.60 [kg | 0.775 3.10 3.10
B2A |H-200% 100X 558 SS400 4,000 1 1 4,000 20.90 8360 [kg | 0.775 3.10 3.10
B3 |H-200x100%x55%x8 SS400 1.250 1 2 2500 20.90 52.25 [kg | 0.775 1.94 1.94
©B2 |H-200% 100X 55%8 SS400 1.050 1 1 1.050 20.90 2195 kg | 0775 0.81 081
eSS
Hey b 7L—+b PL-9 $S400 184 x137.2 9| 785 0184 01372 0.025 1 7 0.175 70.65 12.36 |kg 2 0.35 0.35
U77L—k PL-9 S$S400 184 % 37.2 9| 785 0.184 00372 0.007 1 5 0.035 70.65 247 |keg 2 0.07 0.07
HTB M16x40 S10T 2 7 14 | &
SNAIVEERT 7 2F — |fs1 [PL-9  SS400 160 X 81 9| 785 016 0081 0013 1 4 0.052 70.65 367 |ke 2 0.10 0.10
fs2 |PL-9 SS400 160 % 99 9| 785 016 0099 0.016 1 0.032 70.65 2.26 |kg 2 0.06 0.06
fs3 |PL-9 SS400 160 % 106 9| 785 016 0.106 0.017 1 2 0.034 70.65 2.40 |kg 2 0.07 0.07
SBRBEEA7 7 A — |1 |PL-45 SS400 32%68.3 45 785 0032 00683 0.002 3 1 0.006 35.33 0.21 |kg 2 0.01 0.01
HERBEREE f1 |PL-6 SS400 380 x 380 6 7.85| 038 0.38 0.144 1 2 0.288 47.10 1357 |kg 2 0.58 0.58
2037 | 1951
BEE I LZ—
[:3 Cc3 [355.6x11.1 STK400 0.95 4589 1 3 13.767 94.30 129823 [kg | 1.116 1536 | 1269
N—27L—} PL-19 SS400 410 % 410 19| 785 041 0.41 0.168 1 3 0.504 149.15 75.17 |ke 2 1.01 0.50
HAT 77 L PL-16 SN490C 405.6 X 405.6 16|  7.85| 0406] 0406 0.165 2 3 0.990 125.60 124.34 |kg 2 1.98 1.98
TrA—FRIL b (1B M16 X 680 4 3 12 | &
M16X 680 SS4004a LD A ARMEIND > FALE (HDZ35)
bR CG3 |H-294x 200X 8% 12 SS400 3.862 1 3 11.586 55.80 64650 |kg | 1.349 1563 | 1563
B2 |H-200x100%55%8 SS400 3.900 1 2 7.800 20.90 16302 [kg | 0.775 6.05 6.05
B2 |H-200x100%55x8 SS400 5.600 1 2 11.200 20.90 23408 |kg | 0.775 8.68 8.68
B3 |H-200x100%55%8 SS400 2.000 1 1 2.000 20.90 4180 kg | 0775 1.55 1.55
©B2 |H-200% 100558 SS400 0.990 1 2 1.980 20.90 41.38 [kg | 0.775 154 1.54
AlES
77vY (40 PL-16 SS400 100 x 290 16 785 0.1 0.29 0.029 2 2 0.116 125.60 1457 |keg 2 0.23 0.23
V7 PL-6 SS400 140170 6| 785 014 017 0.024 2 2 0.096 47.10 452 |kg 2 0.19 0.19
HTB M16 x50 S10T 16 2 32 | A
HTB M16x45 S10T 4 2 8 | &
ErES
Hey b7L—h PL-9 SS400 270 % 186 9 7.85 027 0.186 0.050 1 6 0.300 70.65 21.20 |kg 2 0.60 0.60
U77L— b PL-9 SS400 270 % 86 9 785 027] 0086 0.023 1 2 0.046 70.65 3.25 |kg 2 0.09 0.09
HTB M16x 40 S10T 2 6 12 | &

9/11




H > =
K FERILOAEH TILE— BEHREHEE
FL—t FOS N P o BB = kS ®
o o N fior= i = 5 ki
THES i £5 HE - ik Rl e | e | e | RRO\REER) gy lgm | RR | ER ) ggm | ERUS TR TS [@uw | £ s
(mm) (m) (m (kg/m) (m) |Z%EH| (m) (m)
SNAXNVEEMRT 7 2F — |fsh1 [PL-9  SS400 160 < 103 9] 785 016 0103 0.016 1 7 0.112 70.65 791 |kg 2 0.22 0.22
fsh2 |[PL-9 SS400 160> 143 9| 785 o016 0143 0.023 1 7 0.161 70.65 11.38 |ke 2 0.32 0.32
SBRBEEA7 72— |1 |PL-45 SS400 32%68.3 45/ 785 0032| 00683 0.002 3 2 0.012 35.33 0.42 |kg 2 0.02 0.02
HRBEREE fh2 |PL-6 SS400 470 x 470 6 7.85| 047 0.47 0.221 1 1 0.221 47.10 1041 |kg 2 044 044 [ TILE—ARI
5392 | 50.74
BEYLE—
[:3 C1 [2163x82 STK400 06 3774 1 5 18.870 4210 79443 |kg | 0.679 12.81 11.29
53 C2 [267.4x93 STK400 06 5.343 1 1 5.343 59.20 31631 |kg | 0.840 4.49 411 |EEB
N—Z7L—} PL-19 SS400 300 x 300 19| 785 03 0.3 0.090 1 5 0.450 149.15 67.12 |keg 2 0.90 0.45
R—=27L—} PL-19 SS400 350 x 350 19 7.85 0.35 0.35 0.123 1 1 0.123 149.15 18.35 |kg 2 0.25 0.12 |E/l#BE
HAT 77 L PL-16 SN490C 266 X 266 16|  7.85| 0266 0266 0.071 2 5 0.710 125.60 89.18 |kg 2 1.42 1.42
EAT 75 L PL-16 SN490C 3175x3175 16| 785 0318 0318 0.101 2 1 0.202 125.60 25.37 |ke 2 0.40 0.40 |E @B
Tyh—HRLt (1R M16 x 680 4 6 24 |
M16x 680 SS4007a L &0 A ARMEE 18 > X 4L (HDZ35)
FibR CG2 |H-200% 100X 55%8 SS400 1.550 1 6 9.300 20.90 19437 [kg | 0775 7.21 7.21
bR ©G2 |H-200% 100558 SS400 1.550 1 1 1.550 20.90 3240 [kg | 0.775 1.20 1.20
B2 |H-200x100%x55x8 SS400 6.000 1 1 6.000 20.90 12540 [kg | 0.775 4.65 465
B2A |H-200x100%55%8 SS400 6.000 1 1 6.000 20.90 12540 [kg | 0.775 4.65 465
B2 |H-200x100%x55x8 SS400 5.000 1 3 15.000 20.90 31350 kg | 0.775 11.63| 1163
B2A |H-200%100%55%8 SS400 5.000 1 3 15.000 20.90 31350 kg | 0.775 1163 | 1163
B2 |H-200x100%x55x8 SS400 5774 1 1 5774 20.90 120.68 [kg | 0.775 4.48 448
B2A |H-200x100%55%8 SS400 5774 1 1 5774 20.90 120.68 [kg | 0.775 4.48 448
B3 |H-200x100x55x8 SS400 1.250 1 7 8.750 20.90 182.88 [kg | 0.775 6.78 6.78
©B2 |H-200% 100X 55%8 SS400 1.550 1 2 3.100 20.90 64.79 [kg | 0.775 2.40 2.40
BlEs
77vY (O PL-16 SS400 100 % 290 16] 785 0.1 0.29 0.029 2 2 0.116 125.60 1457 |kg 2 0.23 0.23
EE PL-6 SS400 140x 170 6/ 785 014 017 0.024 2 2 0.096 47.10 452 |kg 2 0.19 0.19
HTB M16 %50 S10T 16 2 3200 | &
HTB M16x 45 S10T 4 2 8.00 | A&
ErEs
Hey b TL—h PL-9 SS400 184 x137.2 9| 785 o0.184 01372 0.025 1 32 0.800 70.65 56.52 |keg 2 1.60 1.60
U77L—k PL-9 SS400 184 % 37.2 9| 785 0.184 00372 0.007 1 14 0.098 70.65 6.92 |ke 2 0.20 0.20
HTB M16x40 S10T 2 32 64 | &
SNANVEERT 7 2F — |fid [PL-9 SS400 160 X 106 9| 785 0.16| 0106 0017 1 18 0.306 70.65 2162 |keg 2 061 0.61
fk2 |PL-9 SS400 160 % 122 9| 785 o016 0122 0.020 1 8 0.160 70.65 11.30 |kg 2 0.32 0.32
k3 |PL-9 SS400 160 129 9| 785 016 0129 0.021 1 10 0.210 70.65 14.84 |ke 2 0.42 0.42

10/11




XFERIEOEH TILE2— HENEHESE
*
N Tr—t | 7=t an, BB kS =
an == 9 R i = = E R i E& (kg)
IERS ERAL LS MHE - ik REES | g HE 4 4t C1 i || KA ¥ | & ¢ (kg/m) AE |-+ | ks | L HER
@ ™ - i) (o) i) M (ke/nt) SR o | 2Ema| T | ()
SRETEM7 7 25— 1 |[PL-45 S5400 32%68.3 45 785] 0032] 00683 0002 3 6 0036 3533 127 |kg 2 007 007
HEEmEE th3 |PL-6 5400 360 x 360 6| 785 036| o036 0.130 1 6 0.780 47.10 36.74 |ke 2 156 156
8457 8209

11/11




